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���s�\1
ϯ͕Ϯ�ŵϮ

t��н�d͘D
ϯ͕ϳ�ŵϮ

�͘ϭ͘
ϭϭϭ͕ϯ�ŵϮ

�͘Ϯ͘
ϭϭϭ͕ϯ�ŵϮ

�͘ϯ͘
ϭϭϭ͕ϯ�ŵϮ

�͘ϰ͘
ϭϭϭ͕ϯ�ŵϮ

K�|s��1�WK<K:�н�<<
ϯϮ͕ϲ�ŵϮ

���s�\1
ϯ͕Ϯ�ŵϮ

t��н�d͘D
ϯ͕ϳ�ŵϮ

K�|s��1�WK<K:�н�<<
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���s�\1
ϯ͕Ϯ�ŵϮ

t��н�d͘D
ϯ͕ϳ�ŵϮ
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ϯϮ͕ϲ�ŵϮ



>K�E/��
ϭϰ͕ϲ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WZ��KsE�
ϴ͕ϴ�ŵϮ

�,K���
ϯ͕ϲ�ŵϮ

>K�E/��
ϭϰ͕ϲ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WZ��KsE�
ϴ͕ϴ�ŵϮ

�,K���
ϯ͕ϲ�ŵϮ

>K�E/��
ϭϰ͕ϲ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WZ��KsE�
ϴ͕ϴ�ŵϮ

�,K���
ϯ͕ϲ�ŵϮ

>K�E/��
ϭϰ͕ϲ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WZ��KsE�
ϴ͕ϴ�ŵϮ

�,K���
ϯ͕ϲ�ŵϮ
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^�,K�/ad 

ϴ͕ϯ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WK<K:�ϭ
ϭϮ͕ϰ�ŵϮ

WK<K:�Ϯ
ϭϯ͕ϱ�ŵϮ
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ϴ͕ϯ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WK<K:�ϭ
ϭϮ͕ϰ�ŵϮ

WK<K:�Ϯ
ϭϯ͕ϱ�ŵϮ

�,K����н
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ϴ͕ϯ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WK<K:�ϭ
ϭϮ͕ϰ�ŵϮ

WK<K:�Ϯ
ϭϯ͕ϱ�ŵϮ

�,K����н
^�,K�/ad 

ϴ͕ϯ�ŵϮ

<KhW�>E�
ϱ͕ϯ�ŵϮ

WK<K:�ϭ
ϭϮ͕ϰ�ŵϮ

WK<K:�Ϯ
ϭϯ͕ϱ�ŵϮ
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 16 x 188 = 3 000
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